=

o=t

3x2 +2x - (k- 3)

o

_ZF_

|
i

K
ol
rJ
Nfo
B!
iy
m
0|
<
%o
o
~
o
)
o
Il
o 7 B
L~ =
fife)
. o
2v_ﬂ7 ,Dl __(
+ o %
3, o Ww_
o I~ T 90

0

8

1-3x(-k+3)

3x2+2x—k+3
14+3k-9=0, 3k

D
4




2. oAAA (x+5)2=a2 7 1ML o,

it

>
> MEt:

oH - d

=0

AF

o

2~
a

a®l

Hs

©
=

Foto e,

B

(x+5) =

25—a=<

a=0

a?t LS 7HAER

10>2
2




rlo

@ 574 @ 47 @ 37 @ 274 ©) ¥
D = 36—4q ©|B2

@a=0°" D>00]B2 F 2zttt (AA)
©a=9°"dD=0°]B2 T2 2=t (AA)
©a<9°lHDx>0°]lBZ Holk sh}o L& ZH=t} (3)

@a>9°MD<0o]BR ZL2 U} (

@a>9 4 W F L2 Zdeth(AR)




=
|
ol N

D= {~(k+1)}? —4(k+;11> —0

k2-2k=0
k+#0°]B& k=2 o]t}
k=25 FoR Aof tdsta




5.

y = k(k = 2)x? = 3x? + 5x + 8k 7} x of] T3t o)A} o, th F
B ke #tel 2 4 gl RS BE 12

D)-1 @ 0 @1 @ 2 ®)3

=ax? 4+ bx+c & FEjol| A a # 0 o]o]oF StE 2
0, k(k—2) # 3 o]oJoF gt whebA] k # -1, k # 3




et

h s

o

ol hat
7

Iz
=

Py o g 3

(<]

y=—x2+2x-3 2 1

o,
® x<1% 1, x 2 o] 27}

= °

H=

@ off=

.

ul

.

ul




s . _ 1

Fry =~ o AES y 5 G2 4T BHOIToRL, y = 1o
o A nEy & Wk —1 v PPolFet 1HS UEhd Zelrt
ol w ot& AW & &2 A M

yll

P

0] N

Q S 7
R|

@ A P(0,4) 1, & R(0,-1) o]t}
© A Q(2.0) °lxL, A S(-2,0) °]}.
© QS=38°|th

® aPRS =5, AQPR = 8 o]t}

©® oOPQRS = 12 °]t}.

@1 7R @ 27 @ 371 @ 47 ® 570

y=-x*+4°y=0-&dYstd A Q(-2,0), S(2,0) o|tt.
QS=14

E, P(0, 4)°]3 R(0, —1)

APRS = AQPR =5

et &2 A2 QOlE= 17101,




vV VvV
0x
i

iy

14

.
rlo

o]

.w':‘L

. =]
O S =1

y=-2x2+8°y=0<tHdstH A Q(-2,0), R(2,0) o|c}.
y=-2x>4+8 x=0< HAsIH A

1 _
WHOR y= —3x% +10] x =0 & YA A P(0,1)

1 _ - _ o _
— 1o g adne, &gy 1 wd 3015
o] A1 o 12

Mo y=—-——x“+1

P(0,8) °]tt.

H BBl Wo] — APQR - AP’QR =14 -2 =12




